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401 Al&HI L 20| 300,000 340,000 240,000
01 Al&H| 300,000 300,000 340,000 240,000
O YAIEE2 ®H| L E2-82At  300,000,0008 * 141 = 300,000
[ 150,000]
[Al 150,000]

_35_




il X & H ACXIENH g
B (oM 2 1,741,653 1,660,492 81,161
M= (M et2tel D] 1,741,653 1,660,492 81,161
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SIAZ = 1478 1= sl B
XS 2 A O| OH I'_-IEE = 2} Al = LH (]
ZHH(EAIHEEHEHFIS) 700,000 700,000
700 B8 LHENHHS 700,000 700,000
710 EM2 S 700,000 700,000
714 MXI3 al= /700,000 700,000
714-01 OlXl=al = 700,000 700,000

O Uxlz =2l
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& -S40 P LBt 700,000 700,000 0
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o] = 0 0 0 8 & @ A 0 0 0
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216 0| K22l 500 500 0
216-01 2Z 020l Kt 500 500 0
D32 0K 500,0008 * 14
200 2 AIZ Al Q|22 1,000 1,000 0
003 J| Et0l 1,000 1,000 0
00301 WE2Y 1,000 1,000
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Al S O|CFOFM 17,000 25,660 A8,660
Al S et 17,000 25,660 A8,660
IS (AMEAEIIS) 17,000 25,660  ~8,660
NETEIIZ2Y 17,000 25,660 18,680
301 diet2 A= 12,000 20,660 8,660
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ASEEI= 130, 140 143,700 | 213,560
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028 236906 0 11,775 225,130 137,183 137,183 0 0 9972
20139 | 35,252 0 3224 3208 0 0 0 35252
2014 68,988 2968 66020 0 0 0 68988
2015 | 24438 858 23580 41880 41,880 0 Al7442
20161 | 1500 500 1,000 42380 25660 16,720 /40,880
20174 | 1500 500 1,000 17,000 17,000 0 AI5500
A 368583 19,825 348,758 233443 221,723 16,720 130,140
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